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Let A =

Then
A-B-

o |13
8
12

add correponding entries
/’\
4 10 3 -6 for example: -1+9=8 , and then repeat
8 -8 7 - 1 2 9 _for the remaining entries._
4 9 6 3 7 -1+9 4-3 10-6
i = fi = R cape| 7TL 8¥2 =879
] ) | 546 —4+3  9+7
| -2-2 0-8 -3-10
(8 1 4
_| 8 0ty answer
11 -1 16 ‘
| -4 -8 -13
Eﬂ s 1 4 _
8 10 —17
11 —1 16
—4 —8 —13
subtract correponding entries
6 2 ol =y
7 -1{andB=|-1 —4 6-(-7) 2-(-5) subtract
5 —3 -7 1 A-B=|7-(-1) -1-(-4) | corresponding
5-(-7) -3-1 entries.
i example :
6+7 2+5 2
=|7+1 —1+4 'A_[7 1}
5+7 -4 e
B B=|-1 —4].
7
13 7 ~7 1
’ = 8 3
i = ¢ A, ~B,=6-(-7)=13
12 -4




What is the 3, 2-entry of the matrix?
column 2

5 |[—24 —22 —30]
19 49 —41

[—42
| 20 17| —14 —11] row3
| o

entry at ag, =17

asy means entry at row 3, column 2

=17

d
row=3, column=2

d . .
“rowindex,column index

A e g 4y
A9y dgg  dgg  dg,
dgp  dgg  dgg  dgy
SRR ER RS
A1 |49 || s | 44
31 439 || 433 | 434
— N [a®) ¥
—~ — — —
== g g
s 2 5 =
S 0 S 3
o o o o

row 1
row 2

row 3



